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Higher Accounting Theory Questions

1. Qutline three duties of a financial accountant. 3 marks

One duty of a financlal accountant is tdgeport back to the owners any effects their declsions
may have on ﬁnance)‘rhfs helps owners make the best decision to help their financial

performanci.

Ancther duty is tofalways check the business financial documents)They should be checking for

errors to ensure the dgeuments are accurate and to reduce fraud,

A financial acwuntan??epares any documents that are to be published for the pubiic and other 3
companies to view)
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2. Describe the features of a public limited company with regards to 3 marks

ownership, control and sources of finance.

A pubilc imtted company isfowned by shareholders. The shares can ba baught on the stock
exchange and each shareholder has limited llability'.’r'ms means If the business goes into debt

they only lose the money that they invested. 3

A PLC iqcontrolled by a board of directars. They are elected by sharahelders of the company and

they assist inmaking important decisions. 3
APLC mainl%{s thelr finance by selling shares. The shares are sold on the stock exchange and
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3.

Describe two sources of finance % available to a PLC.

2 marks

Gne source of finance avallable to a PLC is leasing. This is where a business will rent assets rather
than buy them. Equipment is always repaired quickly and regularly maintenance in included in

the rent price. )
Anather source of finance available to a PLC is debantures. x

i and are less risky compared to shares. Interest Is paid back depending on how much profit or

loss is made.
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(i)

Describe three sources of finance available which would also be
available to a partnership.

3 marks

One source of finance available to a partnership is ggavemment grant. This is where the
government will givg the business maney that they don’t need to pay back however they must
meet certain critegialhis could be having your business in a certain location.

Another source isa bank loan, The partnership may receive a loan that needs to be paid back
over a perlod of time. Interest may be added anls

The partners may invest their own capital. This would be a sum of money provided by one
partner when they Joln the business. This money doesn’t need to be pald back.
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Describe two advantages of forming a plc rather than a partnership.

2 marks

Investors become shareholders and can only lose their investment if the business goes bust.XIf ane
investor doesn’t want to invest any more they can just sell their shares)
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Explain how a manufacturing profit is treated in the Financial Statements.

1 mark

The manufacturing profit is included in the manufacturing account. It is added on to the factory
cost of production to show the market value, Therefore this aliows the business to see how
much profit or loss was made from producing the product in case they have to make changes to
how tis pmduced.x
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Describe the term Equity Gearing.

1 mark

@;uity gearing shows a business’s long term debts compared to their ordinary shares. It Is
worked out as {preference shares + long term loans}: ordinary share3} If a highly geared business
had iow profits then ordinary shareholders are less likely to receive a large dividend. Therefore If
a business is highty geared they know they must try selling more ordinary shares to pay off debt.
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Explain two uses of ratio analysis.

2 marks

@ne use of ratio analysis Is to identify trends within the business and compare them to enother
usiness. Therefore this will allow a business to Identify if there performance is satisfactory
mpared to competitars.
(A:nther use of ratio analysis is to identify if the business have made an iImprovement from
previous years therefore allowing a business to know where they are doing well and if any other
changes are to be made)
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Explain two limitations of ratio analysis.

2 marks

One limitation of ratio analysis Is that you have to compare your ratios with a business of a

similar size within the same industry)
other limitation is that different bisinesses may use different methods of inventory contral ar

lepreciation calculations which make comparisons invalid.
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Describe how a potential shareholder would make use of investment
ratios.

2 marks

8@ potential shareholder will compare the ratios from one year to anotherf{They will also compare
the ratias with other firms in the same industrv)
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Explain two advantages for a management accountant of using a
spreadsheet to prepare a Cash Budget.

2 marks

@ne advantage of using a spreadsheet to p'repare a cash budget is that calculations are
completed for you. This means that all information will be accurate and correct therefore

reduces financlal errors for a business.

Angther advantage of using a spragdsheat [s you can use tools jn the spraadsheet to help easly
identify where there Is a surplus or deficit therefore a business knows when and where they

need to make changes. x
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Explain non-financial performance indicators of an organisation.

2 marks ‘

g’ﬂlell trained staff which will means that the firm should be more profitable in future year%@taff |
eing motivated so that they will work harder if needed.
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1. Outline three duties of a management accountant. 3 marks
Gne duty of the management accountant would be to prepare statements for management which
etail possible spending}fAnother duty would be to give advice about whether to take a contract or Z/‘
not. Alastduty would be to prepare charts for the AGM.) 3
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12. Describe the use of weighted average (AVCO) inventory valuation. | 2 marks
. e . . i
QVCO is an average purchase price which must be calcutated every time goods are pulchased)it is 2-
an easy and accurate way to allocate the price of raw materials for production.
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| 13. Describe two advantages and one disadvantage of the weighted average | 3 marks

method of inventory control.

One edvantage of weighted average is that it is &n easy and accurate way to allocate the price of raw
materials for production. Another advantage is that ’

The accountant might make a mistake when they are working out the average price. x
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Explain the difference between “apportionment” and “allocation” of 1 mark
overheads

This is used when there are lots of different sections to a production process. For example, cutting,
machining, packaging etc. If the organisation can work out how much of each averhead cost is used 0/
in each process then they will allocate the overheads, but if it is tao difficult to work out how much I
of each overhead is used then they will apportion the overheads. x
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Describe the main benefits of using departmental overhead recovery 2 marks
rates rather than a simple factory wide recovery rate.

Using departmental overhead rates is allocating overheads, using a factory wide overhead rate is
apportioning overheads. It is better tp allocate the overheads because it is a more accurate measure
of the costing for each u‘epartmenl)‘ e management accountant is able to monitor the spending &

more accurately and can identify where costs can be saved : :
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16.

(i)

Describe the meaning of process costing.

1 mark

There are lots of different sections to a production process. For example, cutting, machining,
packaging etc.{One process is the input to the next process this means that they are all linked so
that the final prduct is produced) it will allow workers to specialise in an area so should be more
efficient.
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In connection with process costing, distinguish between normal loss and
abnormal loss.

2 marks

(‘lormal Loss is gg offcuts of material that happen because templates are used, abnormal loss is g
when the material is damaged by the machine which is cutting it.)
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17.

With reference to process costing, outline the procedure for recording
abnormal loss in the accounts of a business.

4 marks

Abnormal loss is shown at the end of the process costing statement. It is the difference from the

expected output minus normal loss and the actual output.{it is an expense in the income statement
and reduces the overall profit of the organisation)
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18.

Explain the uses of the following accounting systems:
+ Process costing
+ Budgeting

3 marks

“§M purpose of process costing [s to help identify all costs occurred with each production process
to identify the ot per unit which allows the business to set 2 price which gives the desired profit

margin,

éudgets aré used for decision making and manltaring progress toward any objectiy 5 alloeas for
action 10 be taken 1o ensuse objectives will be met as well as avolding poor cash flow.

Budgets are used to ensure that production and sales demand marry up and that sales targets can
actually be met. This afiows for the appropriste production iwvals bo be set as well as ensuring that
the marketing is correct for the supply of the product.
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19.

QOutline two advantages of using a spreadsheet to prepare a cash
budget.

2 marks

:I.#s'ns a spreadsheet allows for formulas to be used which reduces human error due to the
computer carrying out all cah:ulatlons)

nother is that spreadsheets save time as templates can be used and because formulas
automatically recalculate If a value gets updated,
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20.

Explain the purpose of preparing a cash budget.

3 marks

Zﬂ#we purpose of preparing a cash budget is that it can highlight when the business will have a
surplus of cash which allaws for investments to be planned around thisg

Another is that it can identify when the business will have a poor cash flow situation and this allows
for additional cash via an overdraft or loan to be bought in to stap this from occurring,

&nother is that it can identify if sales are projected to fall and it allaws for the business to introduce
a new marketing campaign or discount offering curbing the decrease of sales.
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21.

Explain three benefits of using spreadsheets when preparing a
cash budget.

3 marks

21{ Using a spreadsheet allows for formulas ta be used which reduces human error due to the
computer carrying out all calculations this ensures that decision making will be better as it is made
based on acturate data)

Another Is that spreadsheets save time as templates can be used and because formulas
auvtornatically recalculate if a value gets updated this means that the business will be mora
proguctive which will help reduce response times to any identified problem.

@otherismat if statements can be used to Identify if bonuses are needed and the value of this to
€ calculated quicker this means that time can be saved as the required bonus level does not need
1o be worked out after an If staterment has been set up)
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22.

Explain the meaning of the term opportunity cost.

2 marks

zzcep rtunity cost is the sacrifice that has to be made between two options when budget is
llmilainr example getting a car means that the holiday Is unaffordable resulting in the cost of the
car bging the holl‘day‘hls allows the business to identify which option would be better after the
sacrifice is taken into account resuftlng in better decision making and could lead to higher pmﬁu)
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23. Explain reasons a special order may be rejected. 2 marks
23 t.qaeclal order may be rejected If it does not improve the profit of the overall manufacturing
oftera limiting factor has been taken into account this means that the business would not accept if
the order does not result in any financial gain preventing any loss of profits.
ém:ther Is that it may have 3 lower unit cantribution than the product that would lose /2..
manufacturing time if acceptad this would result in 2 lower total contribution meaning that the
business will be making less just based on variable <ast)
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24. | (i) | Describe two methods of investment appraisal. 2 marks
(ii) | State one advantage and one disadvantage of each method. 4 marks

z&iybad: shows the time taken for the business to get its money back on an Investment based on
its cash Infhows One advantage is that It is easy to calculate{One disadvantage Is that an inflow after
the money Is fully paid back is not camidere% b 4

unting rate of return shows the profits that are cdmlng in to the business fram an investment
and Is based on earnings after tax and depreclation divided by the orlginal or average cost of the

prod ne advantage s that it Is easy to calculatefDne disadvantage Is that the time value of
money s not wnsMemd)
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25

Describe how the use of computer software might aid the finance
department when carrying out an investment appraisal exercise.

2 marks

IS(O:preadsheet would be helpful as it would carry out calculations automatically after 3 formiga
hasBeen entered this means that less time will be spent on calculations and improves accuracy.

Q! statements can also be used to Immediately show which project should be chasen after the
method has been chosen and after it has been set up to identify the lowest period or highest % it
will Immediately show the desired proj nd thisymproves accuracy as figures will not be
Incorrectly #ted or any errors in calculation which would change the chosen project and this would
meszn that performance won't be effected by an error which lead to a worse performing project
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